BHO-6:
da i= 400 a 450 milioni di iterazioni; ds=0.3E10; segue status 450 mil.:

****************************<br />

1=out-software i-esimo<br />
2=i=450000000<br />
3=r0=2.5655749677434E+26<br />
4=r1=2.5655749677434E+26<br />
5=rpunto0=105613175.31086<br />
6=rpuntol=105613175.31086<br />
7=rduepuntiO=-1.2233008000641E-10<br />
8=fi0= 12.906398384468<br />
9=fi1=12.906398384468<br />

10=fipunto0= 3.2931038430411E-27<br />
11=fipunto1=3.2931038430411E-27<br />
12=fiduepuntiO=-2.7112453203612E-45<br />
15=Kk(f(rpunto1)) = 0.93598348276474<br />
*k%chr />
16=time_s=ACC=clock_fisso=1.1850000050929E+18<br />
17=time_t=t0= 394559870824.45<br />
18=time_t=t1=394559870824.45<br />
19=tpunto0= 8.1479627502822E-7<br />
20=tpuntol=8.1479627502822E-7<br />
21=tduepuntiO= 1.7666982140782E-24<br />
*k%chr />

22=v=105613186.16666<br />

23=v_TG= O<br />
24=v_TOT=105613175.71863<br />
25=fi_gradi= 739.48215614448<br />
26=x0=2.4186840066312E+26<br />
27=y0=8.5565330193599E+25<br />



28=x1=2.4186840099501E+26<br />
29=y1=8.556533031101E+25<br />
***<br />

36=rgi: = 3.12E+26<br />

****************************<br />



